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SECTION-A 

I. ननम्नमरखित प्रश्न सॊख्मण 1 से 25 तक भें चणय विकल्ऩ दिए गए हैं जिनभें से एक 
सही है। सही विकल्ऩ को चनेु एिॊ उत्तय ऩत्र भें चचजननत कयें 

 

1. फणिणय भलू्म ऩणमण िणतण है 

(a) िीघघकणरीन फणिणय भें 

(b) अल्ऩकणरीन फणिणय भें 

(c) अनत िीघघकणरीन फणिणय भें  

(d) कोई नहीॊ 

 

2. चगफपन िस्तुओॊ के मरए कीभत भणॉग की रोच होती है 

(a) ऋर्णत्भक  

(b) धनणत्भक 

(c) शनू्म 

(d) कोई नहीॊ 
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3. िीघघकणरीन उत्ऩणिन परन कण सॊफॊध ननम्न भें से फकससे है ? 

(a) भणॉग के ननमभ से  

(b) ऩभैणने के प्रनतपर ननमभ से 

(c) भणॉग की रोच से 

(d) उत्ऩवत्त िदृ्चध ननमभ से 

 

4. मदि फकसी िस्तु की कीभत भें 60% की िदृ्चध हो ऩयन्तु ऩनूतघ भें केिर 5% िदृ्चध 
हो, ऐसी िस्त ुकी ऩनूतघ होगी- 

(a) रोचिणय 

(b) फेरोचिणय 

(c) अत्मचधक रोचिणय  

(d) ऩरू्घत: फेरोचिणय 

 

5. उत्ऩणिन के सणधन क्मण हैं ? 

(a) बमूभ  

(b) श्रभ 

(c) ऩूॉिी 

(d) सबी 

 

6. अर्घव्मिस्र्ण कण केन्रीम सभस्मण कौन-सी है ? 

(a) सणधनों कण आफॊहन 

(b) सणधनों कण कुशरतभ उऩमोग 

(c) आचर्घक विकणस 

(d) सबी 
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7. फकस अर्घव्मिस्र्ण भें कीभत तॊत्र के आधणय ऩय ननर्घम मरए िणते हैं ? 

(a) सभणििणिी  

(b) ऩूॉिीिणिी 

(c) मभचश्रत 

(d) सबी  
 

8. सीभणन्त उऩमोचगतण (MU) कैसे ननकणरते है ?  

(a) ∆TU

∆Q 
 

(b) ∆MU

∆Q 
 

(c) ∆Q

∆TU
 

(d) ∆Q 

∆MU
 

 

9. िो चक्र ऩहरे फढ़ती है फपय जस्र्य होकय घटनण आयॊब कय िेती है िह कौन-सी चक्र 
कहरणती है ? 

(a) APP 

(b) MPP  

(c) TPP 

(d) सबी 
 

10. िस्तु की उस भणत्रण को क्मण कहते हैं जिसे विके्रतण ननजश्चत सभम, फणिणय तर्ण 
कीभत ऩय फेचन ेके मरए तैमणय हो ? 

(a) ऩनूतघ 

(b) भणॉग 

(c) ऩनूतघ की रोच  

(d) भणॉग की रोच 

bsebresult.in



 

11. बणयत कण केन्रीम फैंक है  

(a) रयििघ फैंक 

(b) स्टेट फैंक 

(c) िनतण फैंक 

(d) शमेय फणिणय 

 

12. NNPMP = ? 

(a) GNPMP - नघसणिट 

(b) GNPMP + नघसणिट 

(c) GNPMP + अप्रत्मऺ कय  

(d) कोई नहीॊ 

 

13. उत्ऩणिन परन को व्मक्त कयतण है. 

(a) Qx = Px 

(b) Qx = f (A, B, C, D)  

(c) Qx = Dx  

(d) कोई नहीॊ  

 

14. ननम्न भें से कौन जस्र्य रणगत नहीॊ है ? 

(a) फीभें कण प्रीमभमभ  

(b) ब्मणि 

(c) कच्च ेभणर की रणगत 

(d) पैक्री कण फकयणमण 
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15. द्वितीमक ऺेत्र भें ननम्न भें से कौन-सी सेिणएॊ सजम्भमरत हैं ?  

(a) फीभण 

(b) फैंफकॊ ग 

(c) व्मणऩणय 

(d) विननमोग 
 

16. फिट प्रणजततमों के सॊघटन ननम्न भें से कौन हैं ? 

(a) यणिस्ि प्रणजततमणॉ  

(b) ऩूॉिीगत प्रणजततमणॉ 

(c) (a) औय (b) िोनों 

(d) कोई नहीॊ 
 

17. आचर्घक फक्रमणओॊ के अध्ममन के सॊिबघ भें अर्घशणस्त्र को िो शणिणओॊ व्मजटट औय 
सभजटट भें फकस अर्घशणस्त्री ने विबणजित फकमण ? 

(a) भणशघर  

(b) रयकणर्डो  

(c) यैगनय फिश 

(d) कोई नहीॊ 
 

18. कीभत मण फिट येिण की ढणर होती है। 

(a) Px

Py  
  

(b) Py

Px
 

(c) +
Px

Py  
 

(d) +
Py  

Px
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19. भणॉग िक्र की सणभणन्मत् ढणर होती है। 

(a) फणमें से िणमें ऊऩय की ओय 

(b) फणमें से िणमें नीच ेकी ओय 

(c) x-अऺ से सभणनणन्तय  

(d) कोई नहीॊ 
 

20. कीन्स के योिगणय मसद्धणॊत ननम्न भें से फकस ऩय ननबघय है ? 

(a) प्रबणिऩरू्घ भणॉग  

(b) ऩनूतघ  

(c) उत्ऩणिन ऺभतण  

(d) कोई नहीॊ 
 

21. एक िर्घ भें फकसी िेश की घयेर ूसीभण भें सबी उत्ऩणिकों द्िणयण जितनी बी अॊनतभ 
िस्तुओॊ औय सेिणओॊ कण उत्ऩणिन होतण है उनकी फणिणय कीभत के मोग को कहण िणतण 
है। 

(a) GDPMP 

(b) GDPFC 

(c) NNPFC 

(d) कोई नहीॊ 
 

22. बणयत कण वित्तीम िर्घ है 

(a) 1 अप्ररै से 31 भणचघ 

(b) 1 िनियी से 31 दिसम्फय 

(c) 1 अक्टूफय से 30 मसतम्फय  

(d) कोई नहीॊ 
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23. गुर्णॊक को ननम्न भें से फकस सतू्र द्िणयण व्मक्त फकमण िण सकतण है ? 

(a) 𝐾 =
∆S

∆L
 

(b) 𝐾 =
∆Y

∆L
 

(c) 𝐾 = 1− 𝑆 

(d) कोई नहीॊ 

 

24. सणि भरुण कण विस्तणय होतण है िफ CRR 

(a) घटतण है  

(b) फढ़तण है  

(c) िोनों 

(d) कोई नहीॊ 

 

25. नयमसॊहभ समभनत कण सॊफॊध है। 

(a) कय सधुणय से 

(b) फैंफकॊ ग सधुणय से 

(c) कृवर् सधुणय से  

(d) आधणयबतू सॊयचनणत्भक सधुणय से 

 

II. प्रश्न सॊख्मण 26 से 30 तक के प्रत्मेक प्रश्न भें िो कर्न (कर्न I एिॊ कर्न II) दिए 
गए हैं इन कर्नों के आधणय ऩय प्रत्मेक प्रश्न के मरए दिमे विकल्ऩों (a), (b), (c) औय 
(d) भें से सही विकल्ऩ को चनुें। 

 

(a) िोनों कर्न सही है तर्ण कर्न-II, कर्न-I की सही व्मणख्मण है 

(b) िोनों कर्न सही है ऩयॊतु कर्न-II, कर्न-I की सही व्मणख्मण नहीॊ है 
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(c) कर्न-I की सही ऩयॊतु कर्न-II असत्म है 

(d) कर्न-I असत्म है, ऩयॊतु कर्न-II सही है 

 

26. कर्न-I : विननमभ कण भणध्मभ भरुण कण प्रणर्मभक कणमघ है। 

कर्न-II : भरुण के कणयर् ही विननभम सॊबि है। 

 

27. कर्न-I : आचर्घक विश्रेर्र् की िो शणिणएॊ होती है।  

कर्न-II : प्रर्भ शणिण को व्मजटट अर्घशणस्त्र तर्ण इसकी शणिण को सभजटट अर्घशणस्त्र 
कहण िणतण है। 

 

28. कर्न-I : एकणचधकणय फणिणय कण एक रूऩ है।  

कर्न-II : एकणचधकणय भें एकभणत्र उत्ऩणिक होतण है।  

 

29. कर्न-I : बणयत भें आचर्घक सधुणय कण प्रफक्रमण 1991 भें शरुू की गमी। 

कर्न-II : फैंफकॊ ग सधुणय आचर्घक सधुणय नीनत कण ही अॊग है। 

 

30. कर्न-I : विऩर्न के अन्तगघत क्रम-विक्रम िोनों फक्रमणएॉ सजम्भमरत हैं  

कर्न-II : विऩर्न उिम िीिन स्तय कण प्रतीक है। 

 

III. प्रश्न सॊख्मण 31 से 34 भें िो कॉरभ (कॉरभ । एिॊ कॉरभ II भें दिए गए हैं िोनों 
कॉरभों के मभरणन कय सही विकल्ऩ चनुनए । 

 

कॉरभ-I      कॉरभ-II 

31. नयमसॊहभ समभनत    (a) 1969 
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32. फैंकों कण यणटरीमकयर्   (b) फैंकों कण सधुणय 

33. रयििघ फैंक ऑप इॊडर्डमण   (c) िनियी, 1949 

34. रयििघ फैंक कण यणटरीम   (d) अप्ररै, 1935 
 

IV. प्रश्न सॊख्मण 35 भें एक उद्धयर् को ध्मणन से ऩढ़ें औय उसी के आधणय ऩय दिमे गमे 
प्रश्न सॊख्मण 35 के उत्तय विकल्ऩों भें से चनुकय िें। 
 

35. उद्धयर् : वित्तीम फणिणय भरुण फणिणय तर्ण ऩूॉिी फणिणय को सजम्भमरत कयतण है। 
भरुण फणिणय अल्ऩकणरीन ऋर् तर्ण ऩूॉिी फणिणय िीघघकणरीन ऋर् व्मिसणम को उऩरब्ध 
कयणतण है। फैंक भरुण फणिणय कण तर्ण वित्तीम सॊस्र्णएॉ ऩूॉिी फणिणय कण उिणहयर् है। 
 

I. वित्तीम फणिणय उऩरब्ध कयणतण है।  

(a) अल्ऩकणरीन ऋर् 

(b) िीघघकणरीन ऋर् 

(c) िोनों  

(d) कोई नहीॊ 
 

II. वित्तीम सॊस्र्णएॉ आती हैं। 

(a) भरुण फणिणय के अन्तगघत  

(b) ऩूॉिी फणिणय के अॊतगघत 

(c) िोनों 

(d) कोई नहीॊ 
 

III. भरुण फणिणय कण उिणहयर् है। 

(a) व्मणऩणरयक फैंक  

(b) सहकणयी फैंक  
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(c) िोनों  

(d) केिर (a) 

SECTION-B 

प्रश्न सॊख्मण 1 से 10 रघ ुउत्तयीम है तर्ण प्रत्मेक के मरए 3 अॊक ननधणघरयत है।  

1. सकर यणटरीम उत्ऩणि क्मण है ? 

2. िस्तु विननभम प्रर्णरी की चणय कदिनणईमों को फतणइए 

3. ऩनूतघ कण ननमभ क्मण है ? इसे उिणहयर् के सणर् स्ऩटट कयें।  

4. सयकणयी फिट की भखु्म विशरे्तणएॉ फतणइए। 

5. प्रणर्मभक ऺेत्र तर्ण द्वितीमक ऺेत्र भें अन्तय फतणइए।  

6. फैंक भें िभणओॊ के विमबन्न प्रकणयों कण िर्घन कीजिए। 

7. अर्घशणस्त्र भें 'सीमभततण' को क्मण अमबप्रणम है ? 

8. प्रत्मऺ कय एिॊ अप्रत्मऺ कय भें बेि कीजिए।  

9. व्मणऩणरयक फैंकों के कणमों कण फतणइए। 

10. बगुतणन सॊतुरन की भखु्म विशरे्तणएॉ क्मण हैं ?  

 

प्रश्न सॊख्मण 11 से 15 तक िीघघ उत्तयीम प्रश्न है तर्ण प्रत्मेक के मरए 6 अॊक ननधणघरयत 
है।    
11. आचर्घक फक्रमणओॊ के विमबन्न प्रकणयों को स्ऩटट कीजिए। 
12. केन्रीम फैंक फकन यीनतमों से सणि ननमॊत्रर् कयतण है ?  
13. भणॉग िक्र की ढ़णर नीच ेकी ओय क्मों होती है ? 
14. सयकणयी फिट क्मण है ? इसकी विशरे्तणओॊ कण िर्घन कीजिए।  
15. भरुण के विमबन्न कणमों कण उल्रेि कयें। 

*******  
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BIHAR BOARD QUESTION PAPER  
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इंटरमीडिएट परीक्षा - 2011 

(ANNUAL / वार्षिक)  

BUSINESS ECONOMICS  
Time: 3 Hours 15 Minutes]             [Full Marks: 100 

SECTION-A 

I. For question nos. 1 to 25, there are four alternatives of which only one is correct. 

Choose the correct alternative and mark it in the answer sheet: 

 

1. Market value is found in 

(a) In long term market 

(b) In short term market 

(c) In extra long term market 

(d) None of these 

 

2. The elasticity of price for Giffin's things is 

(a) Negative 

(b) Positive 

(c) Zero 

(d) None of these 

 

3. It is related with long term production (Fx) is  

(a) By law of demand 

(b) By low of measument of result 

(c) Elasticity of demand 

(d) By law of productivity 
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4. If 60% increase in any goods price but in supply it is 5% increases then the supply of 

goods is  

(a) Elastic  

(b) Unelastic 

(d) Excess elastic  

(d) Fully unelastic 

 

5. What is the source of production? 

(a) Land  

(b) Labour 

(c) Capital 

(d) All of these 

 

6. What is the central problem of economics? 

(a) Alltoment of sources 

(b) Fully use of resources 

(c) Development of economics  

(d) All of these  

 

7. In which economy decision takes on the basis of money chain 

(a) Socialism 

(b) Capitalism 

(c) Mixed 

(d) None of these 

 

8. How it is calculated of marginal utility? 

(a) 
∆𝑇𝑈

∆𝑄
 

(b) 
∆𝑀𝑈

∆𝑄
 

(c) 
∆𝑄

∆𝑇𝑈
 

(d) 
∆𝑄

∆𝑀𝑈
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9. A curve which rises first and starts declining after that is called 

(a) APP  

(b) MPP  

(c) TPP  

(d) All of these 

 

10. The quantity of that goods is called where any seller sales goods at fixed place, 

market and fixed price 

(a) Supply 

(b) Demand 

(c) Elasticity of supply  

(d) Elasticity of demand 

 

11. The central bank of India is 

(a) Reserve bank 

(b) State bank  

(c) Public bank 

(d) Share market 

 

12. NNPMP = ? 

(a) GNPMP - Depreciation  

(b) GNPMP + Depreciation 

(c) GNPMP + Indirect tax 

(d) None of these 

 

13. Production function is expressed by  

(a) PX – PY  

(b) QX = f (A, B, C, D) 

(c) QX = DX 

(d) None of these 
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14. In the following which is not immovable cost? 

(a) Premium of insurance  

(b) Interest 

(c) Cost of raw material 

(d) Rent of factory 

 

15. Which services included in secondary sector? 

(a) Insurance 

(b) Banking 

(c) Business 

(d) Reconstruction 

 

16. Which is budget receipt in the following? 

(a) Tax receipts 

(b) Capital receipts 

(c) Both (a) and (b) 

(d) None of these 

 

17. Two branches of economic activities micro and macro are divided by economists? 

(a) Marshall  

(b) Richardo  

(c) Ragner Frish  

(d) None of these 

 

18. Cost or budget line expressed by 

(a) 
𝑃𝑥

𝑝𝑦
 

(b)  
𝑃𝑌

𝑃𝑋
 

(c) +
𝑃𝑋

𝑃𝑦
  

(d) +
𝑃𝑦

𝑃𝑋
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19. Demand cycle is expressed by 

(a) from above left to right  

(b) from bottom right to left  

(c) X-axis 

(d) None of these 

 

20. In the following, according to Kynes, employment principles 

(a) Effective demand 

(b) Supply 

(c) Production function 

(d) None of these 

 

21. Total cost of market of any country of one year is called 

(a) GDPMP  

(b) GDPFC 

(c) NNPFC 

(d) None of these 

 

22. Financial year of India is 

(a) From 1 April to 31 March  

(b) From 1 January to 31 December 

 

23. Multiplier expressed by which formula  

(a) K= 
∆𝑆

∆𝐿
 

(b) K =
∆𝑌

∆𝐿
  

(c) K = I - S 

(d) None of these 
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24. Money expand when CRR 

(a) decrease  

(b) Increase 

(c) both (a) and (b) 

(d) None of these 

 

25. Narsimha committe is related to 

(a) By tax 

(b) By banking 

(c) By agriculture 

(d) By basic structural improvement 

 

II. In questions nos. 26 to 30, there are two statements (statements I and statement II) 

against each question. Choose the correct option for each question for each question out 

of options (a), (b), (c) and (d) on the basis of given statements: 

26. Consider the following statements: 

Statement - I : Medium of exchange is the primary work of money. 

Statement-II : Because of money, it can be possible of exchange. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

27. Consider the following statements: 

Statement – I :Economic analysis has to branches. 

Statement - II : First branch is called macro and second branch is called micro. 

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 
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(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

28. Consider the following statements: 

Statement-I :Monopoly is a type of market.  

Statement - II: There is only one producer in monopoly.  

(a) Both the statements are true and statement II is the correct explanation of statement I.  

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

29. Consider the following statements:  

Statement - I :Amendment of economic in India was started in 1991. 

Statement - II : Banking amendment is a poet of economic amendment policy. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

30. Consider the following statements:  

Statement-I : Sales purchase both actitivites are includes in marketing 

Statement-II : It is denoted a high living life. 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true, but statement II is not the correct explanation of 

statement I. 
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(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

III. In question nos. 31 to 34, there are two columns (column I and column II). Match the 

correct option between the two columns : 

Column-I        Column-II 

31. Narsimha Samiti    (a) 1969. 

32. Nationalisation of banks   (b) Improvement of banking  

33. Establishment of Reserve Bank of India  (c) January, 1949 

34. Nationalisation     (d) April, 1935 

IV. In question no. 35, there is a paragraph. You have to read and understand the 

paragraph and then mark your answer from the given options: 

35. Paragraph: Financial market money market and capital market are included in it 

money market provided short term loan and capital market  provided long term loan to 

business bank is a example of money market and financial institution are of capital 

market.  

 

I. Financial market provided 

(a) short term loan 

(b) long term loan 

(c) Both (a) and (b) 

(d) None of these 

 

II. Financial institutions are under  

(a) money market 

(b) capital market 

(c) Both (a) and (b) 

(d) None of these 
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III. An example of money market is 

(a) Commercial bank 

(b) Co-operative bank  

(c) Both (a) and (b) 

(d) Only (a) 

SECTION - B 

Question Nos. 1 to 10 are short answer type and each carries 3 marks: 

1. What is GNP? 

2. Explain the four difficulties of barter exchange. 

3. What is law of supply? 

4. Write the main characteristics of government budget. 

5. Explain difference between primary and secondary sector. 

6. Define various types of credits in bank.  

7. What is meant by limitations in Economics? 

8. What is the difference direct tax and indirect tax?  

9. Explain the functions of commercial banks. 

10. What are main characteristics of balance of payments. 

 

Question Nos. 11 to 15 are long answer type and each carries 6 marks: 

11. Explain different types of economic activities.  

12. How many types of credit controlling in Central Bank? 

13. Why the slope of demand curve is downward ? 

14. What is Government Budget?  

15. Explain the functions of money. 

 

********** 
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